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lies on the line y = x + 4. If the legs intersect at
the origin, what is the perimeter of the triangle?
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others, and 3 of the balls are tangent to the
surface of the table. What is the maximum
distance that a point on the surface of one of the
balls can be from the surface of the table?
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greatest and smallest possible values for the
length of AB?
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radius of circle P is5in., mzA = 10x + 2,

m«B = 8x + 3, m«C = 68 and
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degree measures of arc AB and arc CD.
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same place at the same time and run the same
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of the lateral area to the base area?
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